Plot [[’ taocraw:-o’,

" taocavg’,

"taoc’ ],

[’ kOraw:—o’,

"kOavg’,

"kO' ]

['klraw:—o’,

"klavg’,

k1],

[ k2raw:—-o’,

"k2avg’,

k2],

[ Tblraw:—o",

"Tblavg’,

0.9 -

0.8

0.7+

0.6

0.5

I

—@— taocraw
- taocavg
- taoc

0

20

60

80

T
100

T
120

T
140

0.210 ~

0. 205 ~

0. 200 ~

0.195 ~

0.190 A

k0

Warning: col |[' kOraw',

"kOavg'] is missing

20

40

60

80

100

120

140

T.

¢

klraw
klavg
k1

20

80

T
100

T
120

T
140

0.210 ~

0. 205 A

0. 200 ~

0.195 ~

0.190 ~

B

k2raw
k2avg
k2

20

40

60

80

T
100

T
120

T
140

20 A

18

16

14

12

10

Warni

g: /col ['Tblraw’

"Tblavg'] is missing

—— Tbl

20

40

60

80

"Tb1’ 1]



M2 D:53 2025-06-07

|
. obsT / MW\.""‘V' S, /_
30 1 —— predT oo
Tout / MV"’.’ \\ //
20 Ts M \\\ A L
o
f“wd/ ~—
N
[ — | ——————
0 R (R0 R AR IR N P B | ——
0 5 10 15 20 25 30
1000 /,“’"—\\,\k
800 // \"“\\
600 / \ /
/o
M \ /

200 V‘v‘ e ~
: / TR =
0 5 10 15 20 25 30

=" \ ,
N
20 ot A \_ i
== R “- /
= - - \,\ ~~~~~ : -
10 N
\FJ
0 5 10 15 20 25 30
10
8
6

10

20

25

30




